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2022'3 3=7| 332H Q% (¢g)

- H7|CHH| RS9 13% 24, MFHOI2] 63% 22
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MUSHES HIHZA(A8%) X Metal?} 5t2f SO E H7| H| IS 16% HA
SURE2 37| AEH Hl=7|= 2/ 22| ME A

NEEE 4.499 6.611 5.583 A16%
=2t AE) (46) (50) (46) A8%
I}/ 3.490 5377 4.282 A20%
=/M 473 591 497 A 16%
A A 351 356 564 [ +58%
7| E} 185 287 240 A16%
HEAPE S 1.875 2121 1,980 A7%
= A 6,373 8,732 7,563 A13%

LME Cash &4  US$9,372 US$9,513 US$7,745 A19%
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= 37| ToHZ, 7| tid] 8% Z4

« ASXY/H71/HXHYHE S 222 F7IEN0 OE =2 fIS I

o9t

21.30Q 22.2Q 22. 3Q

o/ 34,413 37,378 33,041 A12%
&/ 6,569 7,523 6,580 A13%
AH 2,587 2,023 3,321 +64%
7|E} 2,018 2,641 2,624 A1%
A 45,587 49,565 45,566 A 8%




HARS IS PADNGSAN

21. 30 é 22.2Q
L = 905 606 595 A2%
=& 970 1,615 1,385 A9%
| 1,875 2,121 1,980 A7%




2OUZAN (HE)

= 371, 7] thd] HHo|Y 59% Z4, MT0| 63% T

= Metal7} of2t0]| 2 Metal Loss Fak & X|2H &40 7]2!

21. 30 22.2Q 22. 3Q
0f =4 6,373 8,732 7,563 A13%
=7t 5,415 7,598 6,861
0f=Z0[< 959 1,134 702 A38%
Thet] 302 371 392
S80I 657 763 310 A59%
(%) (10%) (9%) (4%)
Sy &9 159 229 62
M[E0]< 815 992 372 AG3%
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HEA X Z2H

* ZLAZFAL 2 7] tid] 592 STtet G71=01Y 109 H
= SHRAAIZAL - 7| CHH] 183 At S71=0]2 A69YHH

]
" XI2HE2 A5 LY (H7] tH] A1499%)

22.2Q
=L A EA 5 5 10 +5
ol AGAL 125 114 AG9 A183
M[Z==HOl 26 7 A201 A208
THIf 2l 99 107 132 +25
The 2 130 118 A59 A177
X2y &9 105 84 AGH A149

x ZLHH DAL 37H, SHRIH AL 1074
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2111 3Q +X 2214 3Q &X
0K = 17,809 23,977 +35%
= &7t 15,251 21,338
HEZ0]] 2,558 2,639 +3%
T | 757 1,073
%0]°] 1,801 1,566 | A13%
(%) (10%) (7%)
Q9| £0f 577 406
M0 2,378 1,972 A17%
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AGA KIS 20 (+5)

- FUHABAL : HI S| CH| 728 ZAS ©7120]2) 1594
- SHQIAISIAL : H7| 57| ] 467212 A T7|20[2| 15722
* KEEA0! +169% 2 (ML 57 tH| A3892))

e 21.3Q X 22.3Q X
U AIBA 22 15 A7
519l AIZA} 624 157 A467
RIZ ol 381 A144 A525
Tl 243 301 +58
Che B 646 172 A474
X2y &9 558 169 A389
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crol : ofgl

=1 214 % 224 1QY 2284 2Q%L 22¥ 3Q¥  QoQ
NI 28,094 29,174 31,932 31,166 A766
RS 13,384 14,325 16,888 15,862 | A1,026
H|RSXKH 14,710 14,849 15,044 15,304 +260
RN 11,269 12,347 14,270 12,942 | A1,328
RS 8,472 9,517 10,758 0,386 | A1,372
HIRSEA 2,788 2,829 3,511 3,656 +45
(K1Y 6,826)  (7,675)  (9,484) (8,4 79), (4 7,065)
NI 16,835 16,827 17,663 18,224 +561
B2x 3 AHEEA 28,094 29174 31,932 31,166 A766

(FxfH|=2)
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2022'3 457| =2 2|23 £
1) Metal7} E5A U 213108

RS
r = - =
Coppe 1,410
1,450

$11.000 $9,699 59,997 $9,513

$10,000 1.350

$9,000

1,250
$8,000
$7,000 $7,745 $7,736 1,150
21494Q 10 2Q 3Q 4Q 2144Q 10 2Q 3Q 4Q
% LME Cu Cash AVG (87| @) X 2 27| U v =S
> Metal7t 51248, 427| g O/0) P Long Position, #atopk| &t Jrhst
X WL Hedge 2%, Metal®at 2|43} X HSH2M| THH|, B Hedge 2%
2) XS] LSHl
SIALRH 2 2|(3L — e .

” S EREE A | b 29K 5 33sE e MR
50% 4.4% X 68 XIUZ 9,484 = 98 8,419 (A1,065%)
4.0%
| 2.4%

o > iwiu UMD SO S O XIZ28 A
2.0%

0% 43 3|ARRH 1,500 2hsl b2 (32|, 4.14%)
7.0%

21440 1Q 2Q 30 10®20¢

X 2t 712 Sl 32l 17



I022'—=I AA IS 2 MY (HE, X223 <) PAONGSAN

* Ij= 3.3Z(AI=ZIChH] +9%), MIF10]2] 2,300 (A 2lChH] +44%) HL

: o2
o}
T MAA &
Azt (E)

ME 22,226 18,220 5,707 23,927 +1,701
B (FE) (201) (144) (47) (191) (-10)

HE | wau 8,030 5756 3344 | 9,100  +1,070
(L ) (3,830) (1,973) (1,947) 3,920) (+90)
(= 2) (4,200) (3,784) (1,396) (5,180) (+980)

A 30,266 23,977 9,051 | 33,027 +2,771

Mol 1,600 1,813 487 2,300 +700

% 11~12¢ Cu U$7,800, Z2{¢& 1,4008/U$ 7|&=
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